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@ug - 3 / SECTION - A
TS WIT / Objective Type Questions

ovT ST 1§ 70 T% & Weld W9 & forw ww fwew v v & frd @
Wﬁélmmgﬁwﬁﬁmaﬁomsﬁzw%wlm
35Uy F I e & | | 35x1=35

Question Nos. 1 to 70 have four options, out of éci; only one is

correct. You have to mark your selected options en R sheet. Only
35 questions are to be answered. 35%x1=35

1. ﬁﬂﬁx’f@aﬁﬁﬁqm‘ﬂiwmi\Q
(A) ST FeEu
© ¥ wgEm ) e

Which of the fouowi@.e cause of acid rain ?
(A) Waten@ (B) Air pollution

(Cj llution (D) Land pollution

(D) o &l 1 ferehra
\25A/ 12/108 | ' Page 3 / 32




, Specific feature of regional planning is

(A)

Development of various sectors of economy

(B)

Areal differences in transportation network

() Area specific approach of developmetit

(D) Development. of r'uralAall'eas
FrfaRes it 4 B9 e T g7
(&) v B Fvdrerer sy
©)  feEw (D) ¥=rETE vivey
Which of the fsllowing diseases is not airborne P

(A) .

Respiratory infeétion

(B) Conjunétivjtis

(€©). Diarrh$a (D)  Bronchitis
4 TG T R T % e w R 2

(A) T (B) wWER

© w3 }a/ o

Paradwip port is situated on which river delta ?

(A) Ganga (B) Mahanadi

(C) Kaveri (D)  Krishna
25A/12/108
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5.

Lo
N

TR T arafera 2

A)  F A - (B) Al i

© dhemgE o) i i i
Tuticorin port is located in :

(A)  Kerala | Kamataga

©) Tamil Nadu And Prg sh

ﬁ—mmwg@mw% ? \

()

&m
Where is the head of East-Central Railway Zone ?
(A) ‘Hajxp@:& (B)  Jabalpur |
(C) (w_‘r C (D)  Allahabad
ToRtodtodo &

;(A) gaf<a wdeq fasma Tmm

(B) wufrad ST ferehra s

(C) wufad am fawm Sum
(D) =t gftae febma s

W

L oee—
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LTD.P, is

(A)  Integrated Tourism Development Programme

(B) Integrated Tribal Development Programme
(C) Integrated Travel Development Prografnthe
(D)

Integrated Transport Development Programme

8. ﬁm%ﬁgaﬁ%ﬁ-—r&awé ?

&) == (B) U=ty

%nﬁm}ﬁ (N\D, 2 wmg

Which of the following is a beverage crop ?

(&) Tea

(B)  Coffee
© Dot (A)and (B) (D) None of these
o TaRr e s o T e

(&) 'ﬂ“naii, B) R Y

© w3 (D) w3
Extensive commercial grain farming is not practised in
(A) Pampas (B)  Steppes
(C) Prairies | (D)  Amazon basin

—_— — Page ©/ .
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11.

12.

25A/12/108

2

()  uREE (B) HAR
() @& - ) e Ryt

Which of the following is associated with quinary activities ? |
(A) Transport Commumca

(C) Services - tlon (
AT Hie ol qH 2

(A) et fme

() WW@ :{ agﬁa‘s?mﬁ

~ Red collar i
)
(A) ' ity Secondary activity

_ activity (D) Quaternary act1v1ty

ﬁmﬁﬁéﬁﬁﬁaﬁ?mﬁmﬁﬁaﬁ% ?

(A) TH @) o
© T | : o) wHaWR
Which of tﬁe following is associated with professional services ?

(A) Ad\-locate (B) Washerman

(C) Barber (D) Al of them
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Tr=fafiga # ¥ =9 =g Y9 Gramramd @ g @ 7

(A) = Rt (B)  9&ehi T ggur
(C) = AR e Fmfor (D) Tavafyere Rras

Which of the following is related to qqaternﬁctiviﬁes i,

Ay Manufacturing computer ®

B) Printing books

) . Paper and pulp production\

(D)  University teacher : ,
4. Frferfin Bt 4 1 meﬁ%ﬁmmg?
(a)  wfes | I
®) |
© =

D)

In which of the foliowing activities are high levels of innovations

: inclﬁ.ded ?
(A) Primary activities
B) Secondary activities
©) Quaternary activities

(D) Quinary activities

S Page 8/ ¥
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16.

17

[323]
R TR T wEy R
&) o (B) =mw A
© fena (D) 0 & A
Garrison town is associated with . 0
(A)  Cantonment (B) Trade \
(C)  Education | (D) se.
ﬁwmamfw%maﬁﬁﬁqm% A4 2 7
&) e ) @ |
©) s {(D) T A R A
Which of the fo onomic activities is associated with rural
settlements - B :
(A) v\ . (B)  Secondary
(C)  Tertiary (D)  None of these
A § 9 YaTE s I0E uT @
(A) o & g B) i §
M e & A (D) TR & iy
| The main stream of male migration in India is
(A) Rural to rurs] (B) Urban to urban
(C)  Rural to urban (D)  Urban to rural

~— >
QSA/ 12/108 Page 9 / 32




" . [ 323

18. 2011 h SHI & SRIER e g 6l s &1 aeg T 2 7

(A P s B) e
\(©r frew (D) I goy
According to 2011 Census Wthh state h € highest density ¢
[
populat1on ? '

(A) West Bengal

(B) S
. 4 - : ) T Pradesh
10. Trefafaa % ¥ feg o

(&) Blhar
T8 STyETER 3y % ?

@A)  shEe wERTy

© fer { (D)

Which of t ng states .reccivés maximum Number o
immigr"l

( isgarh | (B)  Maharashtra

©) Qthar (D)  Kerala

20. ﬁrﬁ\ﬁaﬁmﬁﬁﬁ:@mmm FIH HH AL R 2

() T -TER B e T
(B)  AI%EA Srereyg

e wH-we R T e
(D) wifa v ek

[25A/12/108]
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Which of the following is not a pull factor of human migration ?

(A)  Better living conditions
(B)  Favourable climate

(C)  Poor living conditions

(D)  Peace and stability \

o1, frefiied Izt Wt & Reged @ 27
a) <R | EETEIT

€ & 3R “
| Which of the followm&

lon territories has the hlghest literacy

Ch@@' (B) Andaman and Nicobar

d Diu - (D) Lakshadweep

rate ?

(©

22. 2011 %mmﬁmmﬁwmwm

Taifies o ? |
(A) afrerrg B
© W (D) M

Whic}'; state had the highest percentage of urban population in

India according to 2011 Census ?
(A)  Tamil Nadu (B)  Kerala

(C) Maharashtra (D) Goa

\
. Page 11 / 32
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23.

T H A W TR R 7
(A) B) T
© u (D) e

Which of the followmg is not a m1n1ng to
(A)' Jharia | Q
(©) Kl.letri.
24, UFAH Th & R Q“
(®) mﬁqwm | ) nmwvﬁqwam
© fﬁﬁﬂsasﬁgiisr‘::~\ O A
, Rk 1s ple of

“) n t town (B) Medieval town

\Satellite town (D) None of these
el § H o o st T8 @ 2

R (B) ifeh

€ TR (D) e

Which of the following towns is not situated in Gujarat s

() Surat (B) Nasik
(C) Rajkot (D) Kandla /
2
page !
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1 Wﬁww%wﬁmﬁfmﬁﬁﬁqwaﬁqﬁwwmﬁ
27

(A)  SHEEE "9 400 i sl at foft
(B) wm%w,ﬁmalﬁw-ﬁm

Q)
(C) SHEE AR 5000 =AfwAt A 3R

o
(DY 75% @ WWWW_@W -

‘Which of the following is not a

he definition of a city as per
the census of India ?

(A) Populat1on denﬁ O persons per sq.km
(B) Presence?u pality, corporatlon etc

- (©) Popul \ e of more than 5000 persons
(D) Mﬁ

n 75% of population engaged in primary sector

27.  Fr= @ @ B - Prefieor ¥q SoeRh § 7
(A)  Y-¥|Rdl (B) ¥ WA
(C) S SHE ADy W @ wft
Which of the following is responsible for land degradation ?
(A) Soil alkalinity (B) Soil erosion
(C) Waterlogging (D)  All of these
\

Page 13 / 32
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28, SR Iered o el Uy 3

&) Afsm | (B) i

ey (D) werer
. .‘ Y
The leading state in J owar production ig \

(A)  Odisha

N

(@) Maharashtra

©) == D) e-30 3eiy

Whicka@owing is a'forést—based industry ?
) x industry (B) Cement industry
©) ather industry (D)

Iron and steel industry
30. forvm % weram Yoty sty ?

@) o Bl o
- 5 e O) S srifen
World's most dense rail network is found in
(A) Asia (B)  Europe
: - (D) North Americg
(€ Africa -
25A/12/108
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(C) ;ntrepot port ‘ (D)

[ 323
HEEH I
(A) A I B (B) @il v
(C) e ITH I (D) qﬁﬁmww

Abadan is an example of

(&) Oilport " (B) Passenger port
(C)  Packet port Q}
TR IGTET &

(&) T qeH {Q oA g

W@ O) AR
Nagasa‘\Qmple of ’

(B)  Fishing port

. None of these

)ﬁamsﬁsﬁ%

-~
N

-ta)  fe< TEEER w1 gw= TEETR §

(B) WEIId HEMETT &1 3eclifes HETEr |

(C) et |WR &1 YHEAETR &

(D) A I T

Page 15 / 32
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[ 323
Suez canal connects
(A)  Indian ocean with Pacific ocean
(B)

Pacific ocean W1th Atlanuc ocean

()

' Red sea with Medlterranean sea \0
(D) | |

None of these

S WWWWW-‘@W AR @ % ey s
* A e - | |
&) T8 it H’s@
(B) @< #nt | 0 |
() 9am .
(D) @\ . | .
Which route is used for trade between North-East Uniteq States o
America and Western Europe ?
(A) North Atlantic sea route
(B) Suez route
(C) Panama route
(D) Cape route
25A/12/108 |
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Srfeifiad o @ B ot iy wwd ad R 7

(A) RIS B) w
) AT (D) #f%&

. Which of the following is not an inland seaport t?

(A) Kolkata | (B) Athens 0

(&) Manchester (D)

6. ﬁwmﬁmmﬁ

(A)  TTepfae Teh m
A&y (A) T B) TR &7 @ g

Which component i sidered important in the‘ concept of

determinism a

(A) Nv\ponent (B) Human component
(C) Both (A) and (B) (D)

None of these

37. WS it 1 GEATI fRA e Siran @ 7

M B) T

(©) =A™ (D) e

Who is called the founder of Human Geography ?
(A) Ratzel (B) Ritter

(C) Blache (D)  Humboldt

\
25A/12/108
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8. T v W i ¥ g W Y Tl 3
&) i e B) Tt ‘Eﬁﬂ
@ Tl i (D)
Geography of Toyrigm is related tq whigh @m of Human
Geography »
(&) Socia] Geography

ntage of world's population liveg in Agj 5
e
What perc

(B) 20 per cent
(A) 30 per cent

(D) 60 per cent

\_/

: Page 18/ 32
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SiAfEd § ¥ S 99 S 1 Wiowy R T6 2 7

) ST B) erfor glaard

c) s (D)  wewEEl

Which of the following is not a push\ factor of human migration ?

(A) Water shortage | (B) Educat1onabfa0

() Unemployment (D) Epidemics
mwm@mmﬁ@mﬁamﬁ
77

©) T= - (D) DT | Wi =

Both birth and death ra@ high in which stage of demographic
transition theorzv .

(A) First \ (B) Second

(&) Th'nw (D) None of these

43, fyva SAUR A (WTO) i g a2
() = @) fred
Jery  SHend (D) % T
The headquarters of World Trade Organisation is located in
(&) New York (B) Vienna

(C) Geneva (D) New Delhi

v
 254/12/108 Page 19 / 32
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[3
4. Thw w1 gemey premrg i i
(A) I - B <
C)  afyem _DF i ot
The headquarterg of which association ig locateq ip Kathmangy,
(A)  opgc (B)
Q) ASEAN (D) Xhese
45, @ﬁ%w ? |
T gy g Q\) T Praty g
N ®) <1 g ¥
OPEC ig associate With _
(A) Cotton@ (B)
Pper €Xport
(C) 1 eXport D) sy Ar export
46. T RISALZ R N 3y
| % B) Sy
'(c) JATHR (D) Wy
il ttled along 4 river wij)
The vi age se COome Unde, Which, Pattern »
(A)  Rectangular B Radig
© Circular (D) Linear
32
25A/12/108 | \Pag%//
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. fetaied wewl # S gueea srefan Tl awh 2 7

T B) e
© wmAWA D) ReywA

~ Which of the following regions is the oldest well documented urban

settlement ? ‘ A ° 0
(B) Mes o%

(A) Nile Valley

(C) Hwang Ho Valley (D) \ alley

8. ﬁm%%aﬁaﬁ#éﬁm‘rﬁmaﬁm

- (A) %sﬂétr - EHT
(©) & eI {(D)

Which of the f the capital of Ethiopia ?
(A) Canbe.r\ (B) Taicala
(© Ad aba (D)  Nairobi
40, Prmfufed § @ FF GEHRE TR R 7
(A) AU ‘ (B) Wl
| (¢) @ (D)  INETH

Which of the following is a cultural town ?

(A) Canberra (B) Mecca

(C) London (D) Osaka

Page 21 / 32



S0.

S1.

S2.

[323]
A T i ) e R e 2
@) Mo s B e fie
© g D) 8 & +d
Who developed the Human Development Index ?
(A)  Prof. Amartya Sep (B) Manmohgg Singh
(©  Raghuram, Rajan D) Nonefof them
%%ﬁﬁ%%mﬁwﬁmg ?
@) ey B i
€@ s D) Ve

world » & SOUntrics has the highe t S€X-ratio in the
(A Latvig ®) France

©) Japan (D) Qatar

e e e S g

(A) SR Ifg

dicatg, of deVelopment ?
(A)  Anincrease in Bie
(B)  Simple change in SR

(C)  Positive change in quality

(D) A constancy in size

25A/12/108 \/
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() i frarray ®
©€) e e JD)

'Pastoralism' is related to which economic activity ?
(A)  Primary actiyity | | (B) Secondary activity
(C)  Tertiary activity (D)
1 et 3 4 2 e s 2 7 |
Y =

© (D) =

Quaternary activity

Which of the following i8,a plantation crop ?
(A) Wheat € . (B) Maize
(&) Rye (D) Tea
55. weH HuBits ahat W 2
A) wuH (B) W
oy e i D) T #
Co-operative farming has been more successful in
(A) Russia (B) India

(©) Netherlands (D) Denmark

[323]

ot Page 23 / 32
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A) TS ‘B 9 )
© fib o Eﬁ@raagq-a

In which of the followmg econom1es is
1nd1V1dua11y ?

(A)  Socialistic \
. M;(e\; ‘ (D)\Qf these
57. sy :

(A)

uctlon owned

N { (D) %Tm 3
Arabica is assoclt

- Coffee
. Mne D)  py ddy
58. )
(A)  3ifem § ® o
(C) ¥wEsH O oo s
Hirakud project is in
(A) Odisha | B)  Bihg,
4 L (D) Chhattngarh

(©) Jharkhand

-
25A/12/108\|
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T Ay
SR ) e
©) afepft (D) 5 & %

The direction of flow of Luni river is

(A) Eastern ‘ (B)

Western
ety
Southern None of thes

. WMﬁﬁmﬁ%u@aﬁw\{ 2

© @@= Q
Which of the following r'&s the most polluted ?
(A) éatluj é (B) Yamuna
(C) Sonéd | (D) Godavari
L, m e T arafea 2 7
(A) (B) TTFIWF{

() am@m - O I S

In which state is Panipat oil refinery centre located ?

Rajasthan
(A)  Haryana (B) J
Uttar Pradesh
(C)  Assam (D)
25 Page 25 / 32
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62 Freaferfaa ot # ¥ forad v b et g L
R (B) I yew
© TR D) wite
In which of the following states is Narora atomic power Centre

- located ? | ' 4
(A) Maharashtrg (B) Utta; Pradesh
(@] Gujarat (D) Karnataka
- 63.  woymy 5 ey 3 22
@ Fw= B) " dhrerrg
N e D) o
Kalpakkam i in which state o
(A) Kerala (B
) Tamy Nady
Kafnataka -
| (€) o (D) Gljary
64. TR ¥ amoh Ty R
(At ®) Sy
@/ FACH (D) Sy

The leading state in Bauxite productior'x i
(A) Goa B Odishq
@ Kamataka ==

—F~i-27i6—8-_ \/
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67.

[ 323 ]
TerfeET @ e @it @ gl 2 7

(A) I (B)  elE-ar
) e (D) dfan

Gurumahisani mine is associated with which mineral ?

(A) Coal (B) Iron-ore 0
()
(C) Bauxite (D) Copper \

ﬁmﬁﬁﬁ?mﬁm@m%? O
(A) g ITAEH
() Hrs

Which of the following is a { i i
(A) Iron ore _ 0 (B) Copper

Mangane“ - (D) Al of these

(B) E-39T@ IWNT @
(D) S 3w A

2
(©) ﬁi‘f—
Bhadravati is associated with
(A) Cotton textile industry
(B) Iron aﬁd steel industry

(C) Petro-chemical industry

(D) Jute industry

k—i
Page 27 / 32
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68. YR frg U AR 7
(A)  wWERIY (B)  Torma

@ i (D) U T
Trombay is in which state o

(A) Maharashtrg (B) ®Gljarat

€) Goa (D), West Bengaj
69 WIHR o g 3
| (A)  fw gy | (B)  foft 8y 5

C) a4y 4 ¢

(D) A B oy

' Bokaro stee] centre js in

(A)  Mixed SeCtor (B) Private Sector
(C) ‘“Publie sector

70. ﬁﬁa'wﬁmmmﬂ?%%mé?
(A) %ﬂ% AB’)/W
© (D) ‘mm

Which city is called Manchester of South Indig 5

(D) None of these

(A) Chennai B) Sholapy,,

(C) Coimbatore () Ahmedapg g

;
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WUe - ¥ / SECTION - B
g I wy T / Short Answer Type Questions

ST 1 ® 20 7Y 9T & | fot 10 9 F wwr ¥ | g # forg
S frerifer &

(323 ]

10 x 2 =20
uestion Nos. 1 to 20 are Short Answer

Type. Answer any 10 questions.
ach question carries 2 marks. '

,///Eﬁﬁiﬁwaﬁf W A 39w TR 2

10x2=20

What do you mean by cultivable waste land ?

e wua%hzntug@raﬁ¢$:vﬁ1ésqn1ﬁm§|

3.

Write the names of four main religious cifies of India.

ﬁwaaaﬁzaﬁtznnﬁnaaa#ﬁaamat;uﬁiﬁﬁﬁql

quealé;ﬁﬁﬂwzﬁTuﬁﬁ%aamﬁaﬁﬁ%ntﬁ%ﬁ%ﬁﬁamvaﬁsqnlﬁﬁﬁgq|
Write the names “of, four

geographical factors 1nﬂuencmg the
distribution, ofsopulation

What do yoy mean by land degradation ?

~——
|25A/12/108'

What is agriculturg] density ?

e e 1] / b}
Ptlg(. -3‘) / \g‘_
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8.  WRA ¥ wre fom arguma A fiwee & <) s "arg |

Give two reasons for declining child sex ratio in India.
ST T HTET T H HEE R 7
‘ What is Fhe importance of age structure ?
307w e 5
Mention four approaches tg Human Developmeﬁt.

11 e fefes 5y g -
What is subsistence agriculturele

wrha%mwwwa‘_rrﬁﬁmmqﬁ ,

Classify industries on the

12.

Basis of OWnership,
: W%Ww%muﬁﬁwmﬁ l

Distinguish “Bettween Tenewable ang no

gy | '1’1~renewable resources o
Mention any four sources of nojge pollutiop,
15, wafeufd & MU T O ) afie et
Classify ports on the basis of location
g TehIol afedl % i 3T e i |
16, W@ "

D'fferentiate between compact and disperseq Settlements
: :

- Page 30/’
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“ ylﬂ“g /./9)/'@—/7(-7_7 (323 ]
9. W%WWWW%WW[

Write the names of four manganese producing states of India

418/w%wug@t§ﬁwaﬁnﬁ%m%@ l

Write the names of four important centres of cotton textile industry

of Gujarat. %b
. : 7?5/ )] 1Py
\19./-@ fhareramdt =1 g iR | ' \m/;m : T55
Mention two quatérnary activities. ’
e T | G

What is Orient express ?

ﬁéﬁﬁ'ﬁm / Long"Answer Type Questions
mmzz#zsaﬂa‘mﬁw?-lﬁ?ﬁaﬁwﬁd‘m% | 9% & forg
sara;ﬁezfﬁ?ré 5

Describe the geographical factors 1nﬂuenc1ng the distribution of
population in the world.

22. Wﬁ@wﬁtmﬁmwﬁWW%,

Differentiate between nomadic herding

and commercial livestock
rearing,

r’_g'sT/ 12/108 |
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n/

[ 3]
" fRreme 3 A Tl afewEt f wnst 6 Reee fit )

/D D1scuss the problems of urban settlements in developing countries
g

/
Q/q/wwﬁﬁ@sm@ﬁamﬁﬁéammu

.

Discuss the production and distribution of wheat in India

25, I % ARTEE At B B v |

Discuss the non-conventional sources of energy

26. wmnmﬁawaﬁtﬁw%%ﬂ%mhﬁﬁq;
@) TR
(b) HAMT
@ e
@
(e) TR |

Draw a map ofilndia and show the followmg

(a) ©  Paradwip

(BY“Agra
(©) Patna
(d)  Ranchi

(€) Mahanad;.




